Doheny's Stainless Steel Reel - tem#: 8110 & 6575

Washers

L

M5XB0 Screw <H

S

Wneel Handle

M5 Closed Nut

Small
‘Washer

M5 Open
h TBase Al B

Item # 6575
Dimensions: 24" W x 23" H @ wheel side
23.25" W @ non wheel side
Locate ALL Components

Before installing your new reel system,
please make sure all of the listed parts are in the box.

Large
Tuba Ackpter Wheal Catter Pin
Washer

@—- Cap

Small
Tube Adapter
@ Gasket

Dowel

M5X40
Serew

t

MS5X40 with
M5 Open Nut

M5X80 with e
M5 Closed Nut

o ations
So OO

1/2" Screws

TUEYFRTY

' ’_3.1'4, Screws

> 1-3/4" Screws
Cotter Pins

Large adapter installed

Parts Listing
Columnl Description Number Requ Part Number
1 Wheels 2 65753*
2 Dowels 2 65756*
3 Small Tube Adapter 1 65757*
4 Washer for Small Adapter 1 65758*
5 Plastic Cover for Small Adapter 1 65767*
6 Wheel Handle 1 65777*
7 Fixations (Steel Pull Brackets) w/ (2) 3/4" Screws 2 65788*
8 M5x80 Screw w/ Closed Nut 1 65751*
9 M5x40 Screw w/ Open Nut 1 65752*
10 Plastic Wheel Covers 2 657523*
11 Small Washers for Wheels 2 657524*
12 Cotter Pins 2 657525*
13 Wheel Axle 1 657526*
14 Wheel Side T-Base w/ Axle 1 65754*
15 T Base w/o Axle 2 657527*
16 Large Tube Adapter 1 657571*
17 1/2" Screws (St 4.2 x 38) 6 657522*
18 1-3/4" Screws 6 657520*
19 Elastic Straps 13 657812*

Part Number Legend:
Bold* = Parts that are sold

Italics = Parts NOT sold but MAY be sent to customers w/ missing, defective or damaged parts upon arrival
Plain Font = Parts not sold or available (check warehouse to see if its available -if damaged, defective or missing)

Small adapter installed

2/26/2020




